RED 00'(#
R <
<

TAILGATE MOUNTED FLAG &
ANTENNA HOLDER

(2007-2018 WRANGLER JK)

INSTALLATION INSTRUCTIONS

CONTENTS

Flag Pole

Tailgate Hinge Brackets
Threaded Blocks

Flag Pole Mounts

Antenna Mount

M10x1.50 x 20mm Allen Bolts
M10 Flat Washers

M10x1.50 x 12mm Allen Bolts
M3 Allen Bolts

P — —
N NN EFE NN
et et e e e et S N S

4

TOOLS REQUIRED

2.5mm, 6mm, 8mm Allen
Keys/Sockets

13mm Socket

Ratchet

Panel Removal Tool

SKU # J165069
Edited: 02/08/2022



’
REDROCK:
z

STEP1

Remove the inner hinge covers from the tailgate using a plastic panel removal tool.

STEP 2

Remove (2) 13mm bolts from the tailgate hinges.



’
REDROCK =
z

STEP 3

Place the (2) threaded blocks within the tailgate hinge and secure using the original (2) 13mm
bolts.

STEP 4

Install the included (2) tailgate hinge brackets to the tailgate hinges using (2) M10 x 20mm Allen bolts
and (2) M10 flat washers. Tighten until secure.



’
REDROCK:
z

STEP 5

Install the flag pole mounts and the flag pole to the vehicle together, and tighten the mounts to
the tailgate hinge brackets using (2) M10 x 12mm Allen bolts.

STEP 6

Mount the antenna mount to the upper flag pole retainer using (4) M3 Allen bolts. Tighten until
secure.



’
REDROCK:
z

STEP 7

Ensure flag pole clamps and all mounting hardware is tight.

Installation is now complete.



	J165069 - RedRock 4x4 - Tailgate Mounted Flag and Antenna Holder (07-18 JK)-01
	J165069 - RedRock 4x4 - Tailgate Mounted Flag and Antenna Holder (07-18 JK)-02
	J165069 - RedRock 4x4 - Tailgate Mounted Flag and Antenna Holder (07-18 JK)-03
	J165069 - RedRock 4x4 - Tailgate Mounted Flag and Antenna Holder (07-18 JK)-04
	J165069 - RedRock 4x4 - Tailgate Mounted Flag and Antenna Holder (07-18 JK)-05

